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Topic:- General Studies

1) Which country recently passed the Hindu Marriage Bill? / foa %E!T 3 °rd 'Eff i %g ﬁars' fRdus
uifed &= fear 82

1. Bangladesh / STacR
2. Pakistan / OTfdred™

3. Bhutan/ YcH
4. Nepal / AUTdt

Correct Answer :-

e Pakistan/ Ulfcbxd

2) If the angles of a triangle are in the ratio 1:2:3 then the greatest angle’s measure is .

TR TEAYT T PN 123 F U A, A TSA TS PIUTH AT gRfT
1. 180°
2.30°
3. 120°

4. 90°

Correct Answer :-

e 90°

3) Choose the correct form of expression to complete the sentence:
The story of a nation is the of its people.
1. biography

2. autography



3. autobiography
4. description

Correct Answer :-

 biography

4) T F fPpar Vead ¥
1.1

2.2
3.3
4.4

Correct Answer :-

. 2

5) Choose the correct form of tense for the given sentence:

The Hooghly  into the Bay of Bengal.
1. will flow

2. has flowed

3. 1s flowing

4. flows

Correct Answer :-

e flows

6) "% afedr & weft o <&t 1
a1 Weg DI 3T Y e VI # W

1. gOTet

2. Juurdt

3. giardt

4. TRUTSY

Correct Answer :-



. URurct

7) Find the capacity of a milk tank, if its height is 4 m and its radius is 2.1 m. / U®% gY @I @l

F yrfyar 31a &9, afe ST TS 4 Y vg sHH e 2.1 H 2
1. 554m? / 554¥12

2. 55.44m° / 55.44H)

3. 55.44m / 55.44H]
4. 5544m> | 5544813
Correct Answer :-

o 55.44m> / 55,4401

8) Which of the following should be subtracted from -25 to get -48? / - 48 UTW $31 & forw
fFrafafaa 4 9 fad -25 § 9 germr aifige?

1.-23

2. 23

4.-73

Correct Answer :-

e 23

9) Where was the Camel Festival held on 14" January, 2017? /14 Sast 2017 B VW ﬂﬁ?\‘ﬁ ﬁf
Smafera fasar rar e

1. Gujarat/ T[SRTd
2. Punjab / USTd
3. Rajasthan / XTSI

4, Assam/ 3dH

Correct Answer :-

» Rajasthan /ISR

10) Common chemical preservative used in jams & squashes is / S 3R IR UT WG A
ST g 91dT AT TRIAAS TRIE 8

1. Sodium carbonate /maﬂ_@lﬁ?



2. Sodium bicarbonate/@'%'CI'J:[El'IETll'TIEI"ﬁl?‘.r

3. Acetic acid /@W 3T
4. Sodium benzoate /@WW

Correct Answer :-

« Sodium benzoate /@'%'El'qazﬁﬁﬂ?:r

11 / / . .
) Givenc?= ‘4gyz,expressyin terms ofc./ﬁl'{ﬂ'qc2=”4gy2,ca7q€fﬁyaﬁmaﬁl

(o
1.:L 7
. bi(7m
2.V T
_Le)
3.;L 7
,:(—?}
4.“L c

Correct Answer :-

(c)

U TT7

12) The price of tea is Rs. 150 per kg. Last year, it was Rs. 120 per kg. The increase is %. / I DI

¥4 150 & Ufd fren 31 Fivd af, ag o= ufa frat artigfs_ %31
1. 20
2.40
3.25

4. 30

Correct Answer :-

13) T fH UPR I AT 82
1. Ifeqara®
2. Sifdarad

3. HIddddh

4, YHgdldP



Correct Answer :-

14) Natural source of light among the following is ./ R KR IR m Hid

___®
1. firefly / 97T

2. electric bulb / ﬁ'ggq?ra?q’
3. laser / AOR

4, candle / HHe

Correct Answer :-

. firefly / T,

15) Choose the option that picks out all the nouns in the sentence:

The trees can't be grown in such a cold climate as ours.
1. trees

2. trees, climate

3. trees, cold

4. climate

Correct Answer :-
« trees, climate

16) If CLINICis coded ENKPKE, then how is DOCTOR coded? / Tf¢ cLINIC ) ENKPKE T PIfSd

e S1ma 8, @ pocToR Bt A Fifsd AT w2
1. FQeuQT

2. FREVRT

3. FQevQr

4. FQEUQS

Correct Answer :-

e FQEVQT

17)



“IIRMEAT S HTddTe! ®i YihdT & Bawaey ug | - a1 & fae Fafafeq =i o
I AT Weg TG il 82

1. Ut

2. YaIfd
3. Uarafy
4. GGTaIdl

Correct Answer :-

18) Choose appropriate articles for the given sentence:

Instead of orange, she had bowl of cereal with milk for breakfast this
morning.

l.a,a
2. an, the
3. the, an

4. an, a

Correct Answer :-

19) Which state has collaborated with Make My Trip to promote its home stay scheme? / foa wsg

A g 81 W G B gegrar 37 & fore A a1y feur § Jeah o @2
1. Chhattisgarh/ EXIRHA
2. Gujarat/ 7[oIR[d

3. Madhya Pradesh/ TGS

4, Bihar/ﬁl@ﬂ

Correct Answer :-

e Madhya Pradesh/ TR

20) In a certain language dim dam dolpet means fish is tasty and brim crim dim means very tasty food.
Then in that language the word dim is used for: / ICEIRCIG R 'Ef, dim dam dolpet &1 Hddld %ﬁsh
is tasty 3R brim crim dim &1 AdAd % very tasty food | Tl I HTUT H dim Rloq DI TN 3'\"-@7 fora
oo T 8:

1. Tasty



2. Food
3. Fish

4. Is

Correct Answer :-

21) Choose the appropriate prepositions for the given sentence:

I told mom that we'd be home _ an hour or so, but we gotlate  another hour.
1. under, with

2. in, by

3. at, for

4. until, with

Correct Answer :-

22) |dentify the substance that a matchstick cannot light it easily. / 39 UET?I Ca 'lTEﬁITﬁ'E, il

TP AR Bt el & o) | Y1 781 §) wdpan |
1. Paper / DI

2. Kerosene oil / TG T ddl

3. Alcohol / Uehigd

4. Cow dung cakes / 3UcTl g b al

Correct Answer :-

e Cow dung cakes / 3UdI g b al

23) The supply of water to crops at appropriate intervals is called ./ Pd Cal

S SITRTd WR &1 Bt SMYfed Fgardl gl
1. irrigation /ﬁ?ﬂé
2. sowing/§3'|'|_5C

3. harvesting / 9% @t (BRAfEM

4. cultivation / P 4R




Correct Answer :-

e irrigation /ﬁ?ﬂg

24) The tax collections of cities A and B were equal in 2000-01. In 2001-02, it increased by 5% in city A
and by 4% in city B. In 2002-03, it increased by 4% in city A and by 5% in city B. At the end of 2003, the
tax collection of city A: / 2000-01 T TER A 3R B F HI-TUGUT IRTAR A1 2001-02 H, ;MR AT TT 5%
TP 9¢ 7T 3N XER B H 4% b ¢ AT 2002-03 H, ST A W UE 4% dP g¢ 74T 3R e B H
5% AP TG TATI 2003 B 3 |, XEX A BT HR-TUGUI:

1. would be greater than that of city B / RIgX B Pl JdI T 3ifew él‘ll I

2. would be less than that of city B / [I&R B 1 NG o &HH g

3. would be equal to that of city B/ R[6X B AR él‘l I

4. with respect to that of city B cannot be determined / RIgX B & W"-f 3 fAuifa qgjfﬁﬂﬂ oIl oo dl |

Correct Answer :-

» would be equal to that of city B / RIgY B P TR él‘l I

25) Complete the sentence choosing the right option:

He will be taken back he apologises to the other player.

1. although
2. provided
3. in order that

4. because

Correct Answer :-

« provided

Topic:- Ophthalmic Assistant

1) Among all types of adult glaucomas, primary open angle glaucoma is seen in WA
PR & T TH T aret A4l F 9, # Urgadt S Tl T IT UrT ST g
1. 10-20%

2. 20-30%

3. 40-50%

4. 60-70%



Correct Answer :-
e 60-70%

2) Artifacts in the visual field can be caused by all the following, EXCEPT for ./ TRA &F

# reHIyeT (3nféhacy) Freafafad # & feas R 1 gar &2
1. The dilated pupil / el €3 gaen

2. Overhanging brows / 3P el §s Ypie (NIRRT )

3. Frame of spectacles / I%H & ThH

4. Cataract / nﬁﬁuﬁg

Correct Answer :-

« The dilated pupil / Bcit g8 gaal

3) Which of the following statement is CORRECT about the identity of an unknown lens when
viewed through a cross made up of two lines crossed at 90 degree? / Y 3AITd A Bt Ugdlid F AR
# frafafed & & o9 |1 $Y9 9@ g1 7, 919 90 f$30t W gt ¥ansit & ufawseq @ ffifa wia
DI 3@ ATl 82

1. There is no distortion of the cross if the lens is spherical./q% NRENINIE] % D Hg A ﬁ_&; ﬁ?ﬁ[ :@f
B ]l

2. An astigmatic lens always causes distortion of the cross./w T T I Bl m P PRU
EECI]

3. 'Scissors' movement of the cross when the lens is rotated suggests the lens is Astigmatic. /SId o

AT ST § A9 1Y B <t S| YaHe HaTd HIdl § [ o 3ifeig® g
4. All the above / IURTGT IHT

Correct Answer :-

« All the above / SUIad IHT

4) Ectopia lentis is seen in . | -SRIl (Q'\Wﬁﬁtﬂ ﬁ’ﬁm G| H gt
ST g

1. Tuberculosis / &3 AT

2. Marfan syndrome /Wﬁ@ﬂ
3. Syphilis / Rrefe

4. Malaria / AQIRal

Correct Answer :-

e Marfan syndrome /Wﬁf—ﬁﬂ



5) The volume of orbit is ./ ﬁaw T g %I
1. 50cc
2. 30cc
3. 40cc

4, 60cc

Correct Answer :-

e 30cc

6) Cortical color blindness results from damage to area ./ aﬁ;?_cﬁ'q qui 3feT,

R ¥ afesra 8 & uRuawER=u gl 21
1.V1
2.V2
3.Vv4

4. V8

Correct Answer :-

e V8

7) Sarcoidosis has been associated with all the following pathologlc findings, EXCEPT for ./

Ws@mmﬁﬁﬁﬁw T g eyl @iahed erEs) @
95 87

1. Neutrophils response / Iardet ufdafaan

2. Asteroid bodies / UfgT BT

3. Necrosis / $Hdh &

4. Forein body type gaint cells / dTgl fis yeR & fazma SR

Correct Answer :-

» Neutrophils response / Jarisi ufafear

8) Which one of the following statement is CORRECT about the direct ophthalmoscope? / Ud&

Faucd o= & fawa # frrafafed sl A S s T aa 32
1. It gives an angular magnification of 15X. /g 15X &1 BN 3 T Bl g |

2. It makes the disc of a hypermetrope larger than that of an emmetrope. / & B'IE'CI@@U P! fo%b Bl
AT B f5%h J FeT PR AT B



3. It is better than indirect ophthalmoscopes in detecting diabetic maculopathy. / Ug Hgﬁ's’ wzﬁ 2l

Tl @ H el Faued o2 J dgaR B
4. Tt gives virtual image. / T8 ATHR fST Ug™ SR B

Correct Answer :-

It gives an angular magnification of 15X. /g 15X Pl ST 3Mad Ue BT %I

9) Which is the flowing statement is CORRECT about the keratometer? / TS YeaHTat

(@¥erHeR) & faug § Frrefefed & @ o9 91 $YF 99 22

1. In the Javal-Schiotz instrument, the object size is fixed. / SId a-fRraf ol BER: CESECARSICAR [GUK]

LRI

2. In the Javal-Schiotz instrument, each step of the mire is equivalent to 1/2 a diopter. / W—ﬁﬁhﬁ?ﬂ RE|
H, OTR &1 Jdd a0, 1 SFER & SRISR 81T |

3. Von Helmholtz instrument uses rotating glass plates to double the size of the image. / CI5| %F@m

I3, fdd & SMHR B GRHT B & oW BT B gA aTell Wed BT SUINT BT 3|

4. The power of the cornea is equal to 333.5 divided by the radius of curvature in mm. / Ydducd &1 LITdQ,

333.5 %] gebdl D1 Ao I fAHTRIT B o, & RIeR it g

Correct Answer :-

» Von Helmholtz instrument uses rotating glass plates to double the size of the image. / g %Q’%lﬁ\\_ﬂ,

T, 9 & MTHR B AT B &b AT B9 D) gH aTel W BT IUUNT Bl 2|

10) What is the percentage of normal eyes that will have a cup/disc ratio greater than 0.3? / Q"\‘ﬂ

T 3T @ T 1 ufa=id 8 o 0.3 3 ot su/fes srgura g
1. 5%
2. 12%
3. 18%

4. 26%

Correct Answer :-

. 18%
11) The best way to check the optical centers of eyeglasses is to . IH & YD b5
B - HIA BT AXTS AP g1 gl

1. Use a clear plastic ruler to find the geometric center / ST % I B & fou te W
TAIREeh X BT SUART BT

2. Use the lensometer with India ink marker / S1STT S HIBR b 1Y AGIHICI BT SUANT BT
3. Use keratometer / TSSUCTHTYT (PIRCTHICR) BT IUTNT HRAT



4. Calculate them from refraction / 391 UM U &b ITY HIAT

Correct Answer :-

e Use the lensometer with India ink marker / 3'%'5” D HTHR & 1Y AGIHCR BT IUANT HIAT

12) Which type of photoreceptor is best able to process bright light and colour? / 5 yorR &1

UBTIRITE!, JAATS U A THD IS YT dUT 1T P Yehfird HdT 82
1. Todopsin / TSI
2. Rhodopsin / RS

3. Cone / TP
4. Rod / RIcTThT

Correct Answer :-

« Cone / RiPp
13) The most frequent loss of optic disc neural rim tissue at . 1 3ffe-aforept dffemr
R R & Sad o1 Gaifu® g W T g

1. Superior nasally / SEadl 1% I (ﬁcﬂﬁ'q? m)
2. Superior temporally / S&ad ST (FUIRTR TTOReR)

3. Inferior nasally/ 3{ ?an'ﬂ@ % I (_{Cﬁh—q? W)
4. Inferior temporally / 3{ ih'ﬂ@ YTt ( SHIRAR m)

Correct Answer :-

« Inferior temporally / 3 ih'ﬂ@ YTt ( SHIRAR m)

14) Which one of the following statement is INCORRECT regarding in a patient who has had

vitreoretinal surgery? / ﬁ%@ﬁiﬁﬂa Toidt HIaE ara I & faug & Frrafaf@a d F S
FYF AT &2

1. Buckling causes a hypermetropic shift. / STa & HRUT GTIURHC U [GRIMTT BT B |
2. Buckling induces astigmatism. /W E@ 3@1?” &1 IANT Har %’l

3. Cataract formation is a common complication with macular hole surgery. / W B ot § g arent

A Sfeadr Aifeanfeg g1

4. Injection of air into the vitreal cavity of a phakic patient causes a myopic shift. / Hip® Atht

qrSfead a1 H arg &1 3id: 80T (FoiaRH), AfUe faRIT &1 SR a9 ]

Correct Answer :-

« Buckling causes a hypermetropic shift. / G d & HRUI GIZURHCIUS faRITI BT § |



15) The procedure of choice for infantile glaucoma is . / Q=T TABHT %?ﬁnzaﬂtr
ufsear g

1. Goniotomy / M areidt
2. Trabeculectomy / W

3. Cyclocryotherapy / BIECNIEIERIR Rl
4. Goniopuncture / HIBEIEEER

Correct Answer :-

» Goniopuncture / HIBEIEEER

16) An eye with amplitude of accommodation of 5 diopters has a near point of 20 cm, than the far
point of this eye is_ ./ 5 STATER & JHS & ATATH qTel T 319 BT f-idvead! fag 20
It 8, 91 39 I BT X g I

1. 33-1/3 cm in front of the eye / G H HJHY 33-1/3 I,
2. 20 cm in front of the eye / G & JHY 20 I,
3. At infinity / 3Fd TR

4. 20 cm behind the eye / 31T & Uiy 20 .

Correct Answer :-
« At infinity / 3/d IR

17) Which acute bacterial conjunctivitis is not associated with polymorphonuclear response? / =

# ¥ o9 1 g S Raa e 2y, uidaTe e ufafear @ Ja T8 32
1. Staphylococcus aureus / @W?W SR
2. Staphylococcus pneumoniae / ?977773@75’?—75’777 Aaiar

3. Hemophilus influenzae / ﬁm s_rl:@ﬁ\_sﬂ
4. Moraxella lacunata / TG ﬁw

Correct Answer :-

« Moraxella lacunata / FIEIAT é@a

18) Diagnosis of bacterial disease can be made by . \_lﬁﬂ'l"'{ﬁﬁﬂ' AT BT e
& gIRT fpan o w@ar g1

1. Finding bacteria in pathological fluids / m\_ﬂ—'ﬂ war (Ef Jraron Ufusd) H ST &1 udl @ B

2. Isolation of bacteria by culture from exudates or blood / .91 a1 39 ¥ Hadq & g \_Iﬂa'l'f{[ &
ERIEE!




3. Both A and B /Q?‘Rﬂaﬁa:ﬁ

4, None of these /Eqﬁ I aﬂé '_'|_6p[

Correct Answer :-

e Both A andB/Q?‘Rﬂaﬁa:ﬁ

19) All the following is specific indicator for cycloplegic refraction, EXCEPT for ./

fFrrafafea # @ f5a srear, Ju T ft arswiwfcme sruad= & fafkne gue @2
1. Accommodative spasm / fAyrdt smau
2. Contact lens fitting / Taef o fefe (av—\l’%TlE o ﬁb—%"f)

3. Hyperopia / QReI9dT (STSURITUAT)
4. Strabismus / NG

Correct Answer :-

» Contact lens ﬁtting/maﬁ fopfd @\I%ai'aﬂﬁv—%"[)

20) The thickest area of the sensory retina is found in the vicinity of the ./ Fad) Ef¥ued

AEfe F el wR@yrT, & FAeidie U o 3|
1. Ora serrata / 3{RT YRICI

2. Equator / SadEx (HET 3)

3. Fovea / TIfdiaT (Wifaan)

4. Optic disc / 31T&f-Tfeh T

Correct Answer :-

« Optic disc / &b

21) Which of the following statement is CORRECT about colour vision testing? / quf f¥ wiemr &

faug A fFrrafafad # 9 o9 31 Py a9 82

1. The Farnsworth-Munsell hue 100 test contains 84 colour discs. / qﬂaﬁaﬁ-waﬁ 100 TRIE0T T, 84

guf f% giet B

2. The colours of the Farnsworth-Munsell hue 100 test differ in hue and saturation. / Wﬁ—w quf
100 TY&f0T & T, 901 U9 gt & fir=1 g1d €1

3. Ishihara test plates cannot be used by pre-verbal children. / SIRIERT URT&or LaQH, TTaRIfsGe Sl g
gad 8] P off Yaheil g |

4. Ishihara test plates are designed mainly for congenital red-blue colour defect. / $|§|6?| TRi&for @E\F,

T U ¥ S-S ardl-iet guf fagfa & forg dar &1 718 |

Correct Answer :-



e The Farnsworth-Munsell hue 100 test contains 84 colour discs. / Wﬁ—w qul 100 TRI&T01 H, 84
quf &b gl B |

22) Irrespective of the etiology of a corneal ulcer, the drug always indicated is

TAqUCHT BT & 3oy A SRiTG @A §¢, Ued waﬁmﬁmﬁ’r%l
1. Corticosteroid / ﬁ%ﬁ@ﬁs’g
2. Atropine /@'lﬂ:[

3. Antibiotics / Ufaoifde (GSiamaifes)
4. Antifungal / HadIdT (@ SIhTa)

Correct Answer :-

 Atropine / QEj'Eﬂ:f

23) Using a schematic eye, what will be the size of 20/200 letter on the retina when viewed at 6
meters? T AIOTTaS 3HT-W BT ST B §U, 6 HIeX DI gt T W T W 20/200 &R BT
AT W PR FAT GRM?

1.0.1 mm /0.1 &Y,
2.1cm/ 1 w
3.0.24 mm / 0.24 To,

4. 0.5 mm /0.5 f&HI,

Correct Answer :-

e 0.24 mm / 0.24 fAH

24) Which is the following statement is CORRECT about the techniques used in slit lamp? / e

o § W g1 arell ae-idl & faug # FrAfafla i A T ar sy Ia 82

1. Diffuse illumination is best for visualizing iris atrophy. / MY &fordT & ¢ & for faafd Ueiad
qd9s B

2. Lateral illumination is best for visualizing the anterior capsule. / 3t dge &I & & feg aryf
Tt TS B

3. Specular illumination is best for visualizing the epithelium. / 3Ud cll (@?ﬁﬁﬂﬂ) P gE- & o
IHS N UGl TGS 3|

4. The light and the microscope are co-axial in retroillumination. / PRI (@Wﬁ?ﬂ) ER*EaR]
qYT YeraeRl ge-3Hafia gid B

Correct Answer :-

« The light and the microscope are co-axial in retroillumination. / URIHSII (WW) ERCEaR]
YT geresil Ag-31efla g |



25) The light reflex of pupil ./ ga?ﬁ Cal WT’ZTW, -

1. Involves the superior colliculus / Eﬁﬁ?ﬁw W&Iﬁ%ﬁ?ﬂ %I

2. Involves the occipital cortex / 3P YT deh < A g |

3. Is impaired in patients with unilateral cataract / THUTH S m ara AR F effor g 81
4. Is impaired in patients with unilateral squint / W‘Tﬁ% NIY aTel AR H ffor a?ﬂ %I

Correct Answer :-

 Involves the superior colliculus / SEadf ay e m %’I

26) All the following will tend to seek early help for presbyopia symptoms, EXCEPT for

/ Frfateaa | 9 f5a sieor v Gt o sRigrete & demi & fore e Teraar ot .
TIIHAT gHNT?

1. Short person / Jlc Afaa

2. Hyperope / _Q'R_E'@ Rl

3. Myope / et T

4. Contact lens corrected myope / TR = Tenfid Feeefte Ief

Correct Answer :-

* Myope / Fdeefte I

27) Which of the following statement is INCORRECT with regard to optical radiation? / UhTRT

fafeevor & ded & frr=afafaa § @ &9 91 939 a2

1. The wavelengths of visible light lie between 400nm and 780nm. / GR 1T gHT DY az’u%m‘, 400 nm 9
780 nm & S BIel 5 |

2. Ultraviolet A has a shorter wavelength than ultraviolet C. / RIS I & SR H WIS T B
e BIel gl 8 |

3. The shorter the wavelength the higher the energy of an individual quanta (photon). / foddt foriw aafer

(BIH) B T BT a1 Bl &, IHD! Soll I gl < Il &

4. The human lens is better at absorbing shorter than longer wavelengths. / BB e a?, NEIGRE é??faﬁ
3U&T BICT ARG B 95aR ¢ A= Hd 8 |
Correct Answer :-

« Ultraviolet A has a shorter wavelength than ultraviolet C. / RIS T @ KL T RIS Tt
aee Bicl gt 81



1. Staphylococcus sp. / L IENICACE R
2. Meningococcus sp. / o iey W'Cﬁ

3. Haemophilus sp. / %Tﬁﬁ?_c‘m Qﬂ'qo[

4. Moraxella sp. / BIPGR | W’Cﬁ

Correct Answer :-

» Staphylococcus sp. / m Tl

29) In glaucomatous eyes, the horizontal cup/disc ratio is greater than 0.3 in of cases. /

e & afa et Al § Sfafre su/fews orurd 0.3 F sifte @t 21
1. 23%
2. 35%
3.55%

4. 82%

Correct Answer :-

e 82%

30) A retinoscopy at 67 cm gives you a +3.0 at 120° axis and a +5.0 at 30° axis, what is the resultant
spherocylinder that you would use for the patient? / 67 It = WW SIS 120 3T
38 TR TP +3.0 TUT 30 3 W TH +5.0 31 &, I & 1w vy 1 aran ufvomdt meardr
@IffISY) w1 32

1. +3.0=+5.0 x 30°
2. +5.0=+3.0 x 30°
3. +1.50=+2.0x30°

4, +5.0=+2.0x 120°

Correct Answer :-
e +1.50=+2.0x30°

31) During fogging, the patient reports that the line from 1 o ‘clock to 7 o ‘clock is sharpest. At

what axis would you add minus cylinder? / BIRIT & GRT, AN SravTd TR fF 1 T F 799
o1 Y gaifie aw 31 3y Argaw Ruftis? frw srer w® widd

1. 90°
2. 60°

3.30°



4. 120°

Correct Answer :-
o 30°

32) Chalazion is a chronic inflammatory granuloma of ./ ATaHTRY (%T'lTRrIGﬁT{)
BT T SrdpIferes Y A=A 2|

1. Meibomian gland / EIECIEIRIR]
2. Zies’s gland / Sitet 1 UfYy

3. Sweat gland / Tdq Y

4. Wolfring’s gland / Gl RRIR

Correct Answer :-

* Meibomian gland / II'IEEnTﬁ PIR|

33) Topical atropine is contraindicated in T E’@Tﬂ:[ # yfafese
Far gl

1. Retinoscopy in children / Sl | feARD T

2. Iridocyclitis / SR SIATS(FaTS

3. Corneal ulcer / AdUCHY BTA

4. Primary angle closure glaucoma / Q'Ig'qﬁ T FAOR Teltep AT

Correct Answer :-

e Primary angle closure glaucoma / SR WTd FRloR Telteh [T

34) In the presence of corneal edema, the best instrument to measure the intraocular pressure is

the 3 ./ TAAUCHIT WM P} IJufRUfT A, SiaxTier g9 & ATYT & forg Jdges a3
I -

1. Hand-held applanation tonometer / g1 T YT S arel Q'lﬁeﬁfl:[ TR
2. Schiotz tonometer / QTGhE\TFT e

3. Goldmann applanation tonometer / MesH™ Q’@ef-‘ﬂ:[ MR

4. Macky Marg tonometer / Tt Anf SR

Correct Answer :-

» Macky Marg tonometer / P! AN AR



Which laser is used for capsulotomy? / FHEHG (dgareidl) & forg frd Ao &1 Iuair fan
ST 87

1. Diode laser / ST ToR

2. Carbon dioxide laser / PTE S'IE'&ITQ*{-II%S Ao
3. Excimer laser / G@\_ﬂ@'{ﬁ W

4, ND:YAG laser/QqéT: a'ngGﬂa\_ﬂT

Correct Answer :-

e ND:YAG laser/ qu aﬁquﬁé\‘ﬂ

36) Which one of the following statement is CORRECT about the herpes zoster virus? / T Fivex

sy & fauy A fFrafafaa & @ &4 91 Y9 98 82
1. It is a RNA virus. / 8 U 3RTTU aRY g |

2. It can be inactivated by the administration of acyclovir. / 39 SHTSFAIGR BT U B HSHY fopar
I T B

3. Shingle resulted from primary infection of herpes zoster virus. / RifT, T SRR TR & WUHD
TeHHUT & URUTAGEY gl &

4. It remains in the liver of patient with previous infection. / g AN & ghd | WW & 1Y
BB

Correct Answer :-

It can be inactivated by the administration of acyclovir. / 3@ GWIEHFﬁﬁT P! Ufate HRep MRy foear
T qHT B

37) Which of the following extraocular muscles can perform intorsion of the globe? / ﬁﬂﬁl’%ﬁ |

q it siféraTer R, Trae & guTa (AT F $eIRM) BT froare wR a@dl 82
1. Medial rectus / AT B U=M

2. Superior rectus / SH@dd! F5g] ORI

3. Inferior rectus / =¥ 359 O

4. Inferior oblique / 7= i

Correct Answer :-
e Superior rectus / Eﬁa?ﬁﬂ PR

38) Which of the following anatomic features has the strongest correlation with refraction? /

frfafad § @ 19 I I8 faivdr &1 sruad< & Iy yaady Ig-Head gidT 82

1. Axial length of the eye / 31T B fefia gﬂ



2. Anterior chamber depth / 3Tl & DI Tl?Tl_sc
3. Corneal power / TddUcad Yfed
4. Lens power / o e

Correct Answer :-

« Axial length of the eye / 30W B! 3fefig g

39) A 4-PD, base-out prism is placed in front of a patient’s right eye while the patient fixates a
target at 6 meters. A small shift of both eyes to the left is seen. This may indicate
/ TP 4-PD, SH-313¢ I If F1 1€ 31T & FHET 3@ 7, Fafw Wt 6 Hiex W & @8y
@?ﬂgﬂ%lﬁaﬂ”@maﬁmmmé@w%lw S AP 8l
Jedl &l

1. Scotoma at the macula OD /ﬁw IS R WhicH

2. Scotoma at the macula OS /ﬁﬁ’[ G‘n'@ R I
3. Convergence insufficiency / SFTROT SUgTed

4. A normal test results / ITHTT UI&0T GROMTH

Correct Answer :-

e Scotoma at the macula OS /ﬁw \’rh'Qﬂ TR WhICHT

40) The most characteristic visual field changes seen in many open-angle glaucoma is ./

%ﬁﬁwﬁﬂ-@a@ﬁmﬁmﬁﬁwmm&@wm & uf¥ad,
|

1. Sector shaped defect / & THR TN (TR VTS fethde)

2. Enlargement of the blind spot / 3y ﬁg %1 faadq

3. Altitudinal defect / 3=TdTR fapfa a1 Sfa3e=dy fadid
4. Nerve fiber bundle defect / AfADT dq sed fadbid

Correct Answer :-
« Nerve fiber bundle defect / WAPT g sied fadhfd

41) A scotoma viewed on tangent screen at 2 meters is 20cm in its largest dimension, than what is

the size of the lesion on the retina? /WG'[?I?R? (’\W‘ﬂ?ﬁ'ﬂT),W’Qﬁﬁ”ﬂ‘fﬂZﬂﬂﬁ?ﬁmm
¥ foRar & 20 A, fazgan 8, @Y Aquea @i+an W ey o1 smer T g

1. 4.0mm / 4.0 T&EY.
2.2.3mm /2.3 &,

3. 1.7mm/ 1.7 foret,



4, 7cm/ 7 @'ﬂof

Correct Answer :-

e 1.7mm/ 1.7 T,

42) A painful, tender, non-itchy localized redness of the conjunctiva can be due to .

AT B FSTar®, Georareexiod, W@ @@l S SRUI o
1. Bulbar spring catarrh / HalpR BT Aoren

2. Episcleritis / HfRdducany (gﬁ@@lﬂgﬁg)

3. Vascular pterygium / Jag-g uefd

4. Phlyctenular conjunctivitis / m AR JMY

Correct Answer :-

« Episcleritis / 3fERITUCANY (UwreRTSiCH)

43) An aphake will see an increase in image size of . WQ'W, &

yfafata 3P # Sgias! @I
1.5%
2. 10%
3. 30%

4. 35%

Correct Answer :-
e 30%

44) What is the most frequent problem related to the use of topical pilocarpine? / afusd

UTSAIDTU & SUART | HafUd FaTfUd TR-TR 1A el JHET FT 82
1. Cataract / m

2. Iris cysts / 3R gcdh

3. Visual blur / & H el

4. Ciliary congestion / UGHTH WHT

Correct Answer :-

« Visual blur / G& T e



Because of their lack of vascularity, which tissue is known to heal quite slowly? / P AT SHdD

T SFRREAT (@ afvel) @ wHt & FrRun, aga TR-9R g9 WA & e s wiran @2

1. Epithelial / 3Udcll

2. Fibrous connective / dqgdr 31qu\)1¢

3. Muscle /ﬁ?ﬂ’q
4. Bone / 31y

Correct Answer :-

« Bone / Y

46) Which is the following statement is CORRECT about the retinoscope? / W%ﬁw |

frefafead § @ 919 91 Sy I 82

1. Two mirror systems are used: the pane mirror and the convex mirror. / %-E&UT qorTel # PAUS gqor
T SIS ST T JUANT faam SITell &

2. The neutral point occurs when the patient’s far-point coincide with the observer’s nodal point. / SId I

T X fig The® & v foig I Furh gar 3, 79 Iarfi= fag urar smen 31

3. An ‘against’ movement always indicate hypermetropia. / U faudiar nfq geg defefe
(BTRURAITA) BT P BIel & |

4. A with movement always indicate astigmatisum. / Ueb &1 fe=T arelt 71 Wea e H1 g giat
gl

Correct Answer :-

o The neutral point occurs when the patient’s far-point coincide with the observer’s nodal point. / SId |

1 X fdg Tdderds & gy fdg 3 Furd g1l 8, d IarfH foig urar S g

47) The intraocular pressure should be measured in all . | SfTaRTéf g1 &1 HIYA,
Tt H fpar ST =nfgu|

1. Patient over 50 years old / 50 GLf &rrgaﬁ |
2. Patient over 40 years old / 40 I9 q HY 3‘|T§E|Ta ]|
3. Patient over 30 years old / 30 9§ 3ifI® &rrqan?ﬂ it

4. Patient who can cooperate / {-ISCI\I‘I H b ara A

Correct Answer :-

 Patient who can cooperate / {-ISCI\I‘I B P ara AR

48) Which of the following has the greatest refractive power? / frafafea o 9 fead gaffte
Y fad gielt 82

1. Anterior surface of the cornea / AAUCH (av—\llﬁﬁﬂ) CARDERI de



2. Vitreous / hTdIYH
3. Anterior surface of the lens / A Bt wa?i’f de
4. Posterior surface of the cornea / XAAUCH (B11-1T) BT TR YT

Correct Answer :-

« Anterior surface of the cornea / XAAUCH (av“l'ﬁm) CARDERI dg

49) The volume of aqueous in the anterior chamber is . | | Be (%h%m H U
ST dTel T 1 AT Bidl B

1.0.01 ml/ 0.01 THret.

2.0.10 ml /0. 10 THeT.
3.0.25 ml / 0.25 T

4. 0.50 ml / 0.50 Torett.

Correct Answer :-
e 0.25ml/0.25 FHet.

50) The sure diagnostic sign of corneal ulcer is ./ XAqYeHd STd (ﬂﬁ'ﬁqﬁ STNIR) I
A et sifiraaror Far gl

1. Ciliary injection / UEHTH ESERE]

2. Blepharospasm / JHGY

3. Miosis / TSR

4. Positive fluorescein test / TPHRIHD TR UIE0T (tﬂvﬁlﬁ_d TARYE é@)

Correct Answer :-

« Positive fluorescein test / THRIHD TR URIETT (TISITed TR <)

51) In normal eyes, the difference in intraocular pressure between the two eyes rarely
exceeds ./ ATETY JAT-Ei |, g oWl & 0 iaxTies g9 H 3iax giRwa 4
¥ 3 giar 31

1. I mm Hg
2. 2mm Hg
3.4 mm Hg

4. 5mm Hg

Correct Answer :-

e 4 mm Hg



52) Which one of the following statement is INCORRECT about contrast sensitivity? / famata '\TJIT%?‘IT

& IR ¥ FAfafea 3 9 o9 91 3 sRia 32

1. Measures the eye’s sensitivity to light. / AW BT USRI & Tl gﬂT%?lT %1 {19 HRAT ] |
2. Is inversely proportional to contrast of image. / gfafds & fauatg & Wﬁﬂ grat %l
3. Can be measured with Snellen's chart. / e & El'l?:; & aRI AT ST bt %I

4. Can be measured with VISTECH. / fd%¢® & gRT AU} S Jobel! %I

Correct Answer :-
« Measures the eye’s sensitivity to light. / 3T &1 UHTRT & Ul FUTTRT BT AU BT 5|

53) Which of the following statement is INCORRECT about pinhole? / '\‘I?ﬂm Foreie) & fawa &
frafafea 7 @ o9 a1 sy saa 32

1. If less than 1mm diameter, impairs the image quality. / gfg | il I 9 & %, a1 gfafds &t
U {3 FR T B

2. Abolishes the need for the eye to focus. / 3% & U WIHY HIA BT Ted B! AT Bl 6|
3. Increases the depth of focus and field. /| IS YT Bies B T SQIEF Eal del odr %I
4. Improves ametropia of less than 6 D. / 6ol ¥ ®H PCIY U TP Bl FH~d ddl %I

Correct Answer :-
o Improves ametropia of less than 6 D. / 6ol ¥ ®H P SUTH TP Bl HFH~d ddl %I

54) Cornea is supplied by nerve fibers derived from ./ XAdUed (a”fl’ﬁCIT) G| I
I, dFBT ag P gRT myfd Bt St B

1. Trochlear nerve /ﬂﬂﬁmﬁﬁiﬂ
2. Optic nerve / T GIECT

3. Trigeminal nerve / UgH HUTd ]

4. Oculomotor nerve / 3RS dfAT

Correct Answer :-
« Trigeminal nerve / UIH HUTA dfAHT

55) The fastest acting cycloplegic agent is ./ S do BTd B arer msa?ﬁﬁﬁw
Tuie, o

1. Atropine / Qé“j'q
2. Homatropine / 6 Illf_jld B



3. Cyclopentolate / SIECHIPENG
4. Tropicamide / E‘Tﬁ%ﬂﬁg

Correct Answer :-

» Tropicamide / ?fﬂﬁ%ﬁ_&'

56) Which of the following statement is CORRECT about tinted lenses? / Ifora o9 & faug A

FrAfafRa A I s T s I 32
1. The lenses always change colour with light. / o, U1 T8 IR ged W 95ad g |

2. They work by either absorbing the light or reflecting the light. / q 1 4l YT b SEaRNY0T GRT Eap]
Hd ¢ T BT S W gRI BRI Hd g

3. Transmittance curve of a tinted lens measures the percentage of light transmission for each wavelength.

/ IT A BT URITHIT T, T e P ToIU UehT=I TRl 1 Uf=idar &1 ATYT BT g |
4. Both B andC/EﬁH?-ITma:ﬁ

Correct Answer :-

« Both B and C / & a1 T G

57) Choleraoccursin ___ form. /%\_rIT U H giar %I
1. Endemic onIy/ﬁI’E%W

2. Epidemic only / R wemRt

3. Sporadic only/ R HeaH®

4. All the above / JURTST T

Correct Answer :-

« All the above / JURTG T

58) Weight of adult eyeball is . | TP Hfed & AT-NAD BT qol gar 31
1.6 gm /6 UTH

2.8gm/8UMH

3.7.5gm/ 7.5 99

4.10 gm /10 919

Correct Answer :-

« 7.5gm/7.59H



59) Dense scar of cornea with incarceration of iris is known as . GITEﬁ'\q & P P
1Y AAUSH (PI-1AT) BT T fr=m, & 919 | WY 5T ST 21

1. Adherent leucoma / Wﬁ?}fﬁm
2. Dense leucoma /W@ﬁ"ﬂm

3. Ciliary staphyloma / G&HTH KB
4, Iris bombe / &ﬂm GILS|

Correct Answer :-

e Adherent leucoma / WW

60) EXCEPT this, all the following substances can be found in relatively large amounts in the

aqueous humor under normal condition. / HTHTI fRyforat # G| @3%—{, Ay Tof
frrfafaa verd toaw gowR # srdemea Wkt | § Y 9rd

1. Bicarbonate / Eﬂgﬁlﬁﬁ?

2. Hydrogen ion / 813@\71:[ 1A
3. Protein / UTiA

4. Chloride / FRTSS

Correct Answer :-

e Protein/ m‘c‘ﬁ

61) Which of the following refers to the amount of light arriving at a given point? /frrafafaad

w1 fopdt fiig W oA arat wepT=r @6t | @Y wefila @2
1. Illuminance / TG &9

2. Brightness / g!:ri?{

3. Shininess / dHD
4. Irradiance / TopRUM

Correct Answer :-
e Illuminance / USIGl 9@

62) The amount of binocular disparity of an object is proportional to ./ h ad¥d @t ﬁﬁ'aﬂ

SHHTAT $I /T, & FATIUT! gt 31
1. The distance of the object from the fixation point / fRRTT ﬁ'g’ q a¥d il @
2. The distance of the object from eyes / g CAREECIR] @

3. The absolute location of the object in the space / 3{cRTdl H a¥] Gl U;UT@I%



4. The position of the object relative to the optic disk / e -afhd & e a¥d 3! fRufd

Correct Answer :-

« The distance of the object from the fixation point / fRIRTI ﬁ@ 3 ayd il @

63) How would you distinguish Pseudomonas species from E.coli? / 3Tq s‘-ﬁ?né | H’Q\?ﬁTﬁW
yerTferal @1 $ fyufea w8

1. Gram staining / TH ARG

2. Morphology / STHTRDI (ﬁqfﬁrrﬁ)q

3. Glucose fermentation versus respiration / ’?‘j\?ﬁ\_ﬂ U 9 ag
4. All of the above / JURIe Fit

Correct Answer :-

» Glucose fermentation versus respiration / ’?“Iﬁﬁ\_ﬂ [EACERIERECHE]

64) Which one of the following statement is CORRECT about visual acuity? / ?FQ'—?ﬁ&‘UTHT & W‘l-f |

frrefafad § 9 19 91 $Y9 99 82

1. It can be represented by a reciprocal of the minimum angle of resolution. / 3@ foarem & YIdH Call
¥ ehY gRI e fosar o gar 3|

2. Varies with the region of the retina. / e & Fh WWW%W Eﬁ?ﬁ %I

3. It is affected by general illumination. / I8 TTHIRI Uy & gHIfAd Bl B
4. All the above / SURTad T

Correct Answer :-

« All the above / SUIad IHT

65) Which one of the following is INCORRECT with regard to light scattering? / UPIRI UHI0f & Hay

# frafafaa # @ o9 |1 9 7o 82
1. Tt does not occur in vacuum. / I8 fafa & fed 8t g1 31
2. It is proportionally to the wavelength of the light. / dg BT & aaee & ﬂtﬂﬁcﬂ?ﬁ BT g|

3. Vitreous is best viewed with light of short wavelength as it scatters more. / B qTee aTd YT =
HTATH BT YAXS FU Y <@ o bl § b Ig S YebIofd a3

4. The cornea scatters about 10% of the incoming light. / RddUed m"ﬁm), 3T aTe YT BT T 10
EIRREREH I RERG I

Correct Answer :-

o It is proportionally to the wavelength of the light. / dg BT & a1 & ﬂ'ﬁlﬂql_cﬂ Gl %I



66) A common side effect of carbonic anhydrase inhibitor is ./ W&Iﬁﬁ@?
UIGRIYD! BT ATHTT GHTT gar gl

1. Keratoconjunctivitis sicca / Pehoiaeiafey Rapr
2. Corneal change / RAqUCAg (m BIRGRE]

3. Increased potassium level / del 31T TrefRmam &1 wR
4. Gastrointestinal disorder/mﬁam

Correct Answer :-

 Gastrointestinal disorder/mﬁqm

67) To examine the general population for corneal astigmatism, one would most likely

find ./ ST HTHT @1 RAdUealy eauR &1 wie & & fie, 39
B P Falfie FHTaT 2|

1. Against-the-rule astigmatism / G'IﬁWT o & favg
2. With-the-rule astigmatism / 3faigerdl (99 & IR
3. Irregular astigmatism / 3=THd GT%—C\ZW

4. Oblique astigmatism / IGRED &rﬁw
Correct Answer :-

« With-the-rule astigmatism / 3ffaigadl 99 & AR

68) The most common early symptoms of simple open angle glaucoma is ./ Riva anu= L |

T IHT BT qaTfie ATHTG ARG @e0r, g8l
1. Eye ache / AW BT 8

2. Scotoma / SPICIHT

3. Brow ache / Hi &g

4. Blurred vision / ﬂ?ﬁﬂ G

Correct Answer :-

 Blurred vision / ?jﬂ?ﬁ G

69) Which of the following transposition is CORRECT? / Fer=Iferfad & & &9 & fawdy
@ ANfRE) 98 82

1. PL /-2.00 X 180 =-2.00 /+2.00 X 90

2.2.00/-0.50 X 60 =+2.50/+0.50 X 150



3.-1.25/+0.75X 4=-0.50/-0.75 X 86

4. +7.00 / +2.00 X 78 =+5.00 / +2.00 X 168

Correct Answer :-

e PL/-2.00X 180=-2.00/+2.00 X 90

70) Instrument used to examine retina is . /m CARSIE] Eb_'!ﬁ & ﬁl'll 3'\‘%111?[ forar
S ardr SUHT g1 81

1. Retinoscope /AP

2. Keratometer / TG aHTgl (mtﬂ?i)

3. Tonometer / THHIEX

4. Ophthalmoscope / Fuca a=if (&ﬁ@m)

Correct Answer :-

» Ophthalmoscope / JAged =it (&I}I"@F‘Pﬂﬁﬂ'q)

71) The pericorneal blood supply is most directly served by the . WIf-ad Yad

Agfd, & gRIgaifu® ©ud yge P S gl

1. Anterior conjuctival artery and the anterior ciliary artery / ST AR YA U7 Sad! gemat
Rl

2. Posterior conjuctival artery and the anterior ciliary artery / URd AT HT TUT 3T g
]

3. Anterior ciliary artery and long posterior ciliary artery / 3ruadt germft et qur avar g vemmh
AT

4. Posterior conjuctival artery and the anterior conjuctival artery / URd AT YHT qUT SRTaA!
FALAUT GHAL

Correct Answer :-

o Posterior conjuctival artery and the anterior conjuctival artery / URd AT YHT TUT 3RTaA(

72) What is the power of the contact lens when it gets converted by a +12.0 D lens at 15mm from

the cornea? / XadUed (HIT=aT) | 15 Y. R +12.0 D A9 & gRT FUARA 811 91 Picae AH
T UTaR T gl 82

1. +11.50
2. +13.50
3. +14.0

4. +14.70



Correct Answer :-

o +14.70

73) Which of the following statement is INCORRECT in very dim illumination? /ﬁ'l:lﬁ‘l@ﬁ ﬁ '\ﬁ aﬁ-—r
T g9 9gd He U & IR | 7Tad 87

1. The fovea is blind. / TTfcieT (WIfaa) GBERER
2. Vision is only black and white. /€f§, qH Td Qaﬂ%l
3. Motion perception is not possible. / T TI&foT HHg ﬁ%l

4. Depth perception is preserved. / TTgd]I W&‘I’UTWEIT‘T%I

Correct Answer :-

e Motion perception is not possible. / T II&for HHa ﬁ%l

74) What is the average volume of the orbit? / fo%ﬁﬁ?? I Gﬁﬂ_d HTAT HT Eﬁ’cﬁ %?
1. 6¢cc

2. 12cc

3. 24cc

4, 30cc

Correct Answer :-
e 30cc

75) Which of the following pigmentation of the cornea is due to melanin? / Tddued (aﬁ’ﬁQT) C4|

i & & S W quicar, Aar=H & SR el 22
1. Fleischer ring/q@mﬁﬂ

2. Hudson-Stahli line / §ST-1-CT el @IS

3. Ferry line / Ut NIER!
4, Kruckenberg spindle / Hh-l (S

Correct Answer :-

« Kruckenberg spindle / Hha1 fsa



